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1. Y= 3sind y = aSin6 . —
w y= -2sinf = -2sin0 is upside down
y = Siné and twice as tall as the

. a = Amplitude y = Sinf parent function y = sind
;A A Stretch or Shrink N
0 Factor.




y = aSino

(a} = Amplitude (vertical stretch or shrink factor)

a<0 x-axis reflection
upside down

Sketch one period of the graph of
y = -5sinx

Label the coordinates of all x-intercepts,
minimums, and maximums.

Sketch one period of the graph of
y=3sin6

Label the coordinates of all x-intercepts,
minimums, and maximums.
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Graph the following and describe what happens
to the graph. x[0,2n] y[-1,1]

1. y =sin(26) 2. y=sin(0.56)
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Remember the period of y = sinx is 27 Star End
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L T 2n 2. y=sin=x b= > Period = 4x 2n | 3
v \/ \/ 3. y=sin4x b

3. y =sin(46) 4. y =sin(36)
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Fo . What is the relationship between b and the Period?
3o &T T Period = p
Period = /4{ : % ,5 b = (2n)/Period

Sketch one period of the graph of

= aSinbo notes :
Y Example y= 5sin6x
Amplitude = 8 Label the coordinates of all x-intercepts,

pituae = minimums, and maximums.
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Sketch one period of the graph of Sketch one period of the graph of

: " .
y= -8sin4x Amplitude = YSTEING 57k = e 7“’“(%"') Amplitude =
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Write the equation of this sine function as y = asinbx

> ] Amplitude = D

2.01

. 2 __2n b= # of periods in 21




Write the equation of this sine function.

Ny : : Amplitude =
o _1.40_- -




